/DVIRB

3UDFRZQLN 5RINGDG GU ,UDVLDN $QQD 7\J

7\J
o )
™ -C]\N PLIRZ\ GU ,UDVIDN $QQD =
=375/ z
n
7N 7\G]
SUHIHDSID 0Z GU
SUHIHIDSID GZ Gl LUDVIDN $QQD = =3
a LUDVIDN $QQD = -3 3/ 325&
o 3/ 325&
x 7\J
T
~RQVXUIDFIH GU UDVIDN
$QQD
3RNyl
—_
(5]
7\J
- GU ,UDVIDN $QQD =
T 6SRINDQLD SURIHNIRZH
O
9
7 7\J
GU ,UDVIDN $QQD =
6SRINDQIH SURIHNIRZH
7\J 7\J 7\6] 7\G]
SUHIHDSID GZ GU,UDVIDN $QQD = SUHIHDSID GZ GU,UDVIDN $QQD = 7HFKQRIRJLD LQIRUPDF\IQD] | | 7HFKQRIRJLD LQIRUPDF\IQD)
1335 325& 1335 325& IDE  GU ,UDVIDN $QQD =% ||| IDE GU ,UDVIDN $QQD =%
.20387(52:% .20387(52:%
)+ 35% - & )+ 35% - &
a 7\G]
& 7HFKQRIRJLD LQIRUPDF\IQD (DE GU
w LUDVIDN $QQD =%
& .20387(52:$% )+ 35% :
&
7\G]
7HFKQRIRJLD LQIRUPDF\IQD (DE GU
LUDVIDN $QQD =%
.20387(52:$% :-)+35% :
&
7N
6HPLQDUXP PDJIVIHINH GU ,UDVIDN ™N
o)
2 $QQD
= 6HPLQDUXP GID  VHPHVIUX D GU (THQC ;
by - RQUXUIDFI
Q - DUSXVIHQNR 3RNyl )
o ,UDVIDN
$QQD
3RNyl




